S ¥ {F 57 75 /2007 BF
(26.4.2007 T

B Ik B 3 g

A S MR E
Elgy
¢¢ﬁF¢mE@fﬁ;@} SRR IR i i 1 R
W%ﬁ?ﬁik’ WP IR R PV EUSL - %H,ﬂflﬁﬁﬂf%%ﬁ
?%*%WNE°
TLE!
2. Fﬁmﬁ?m%@@W%“@ﬁ,WWﬁ%gﬁﬁﬁﬁﬁﬁj

M '?—ﬁ\r‘%ﬁ Elpjﬂ&“ W E - ORI R WSO R
A IV A b %c[’*m%qpm| #ﬁﬁmﬁ%WJﬁyq% o ShE 9
Ve B ] Mo ] @’grﬁ’rmu (#8152, *%H%?ﬁﬁwﬁ‘rl PR
uIJ}‘H‘{I Hf?;?F BB ) 0 g e = 5 e

3. WS B R T Y quy*g[ I o A R e
b ?l\‘jzﬁ:a}%[lfg% SRR T o B L SRR e
SFEF A 5T B W B A B *ﬂ ’[‘?pl b T B R
B 1

B AR B EROY S SR BEE T AR S R
I ’FT% A %%%’7 & ?;I»%pj\ @;Fﬁ 4 E"Efj H L -

DR R E | AR IR

N (TENE EE TR T L3 LR o e g
SEETURST Y

CRIRE RN e R e s L RS
V3 A [ 9 D 0 2 S 2 R ST A A
(178 LS00 0 ] T TR B 4
AR S PR



(b) 3 F' E i SRR Lo A i Fﬁ%?” (e e Y A B @F‘Uﬁ[rﬁg@
BSRG[N NG K L PR T e R R R

(C) KRl (¥ ¥ 2% [l [0 0 T e R B S - AR R0 B
[Huﬁm&éﬁlﬂ[lﬂ’g (50 2 e Ty P 5 FLI R P g RO S B IR 2 [
PR T ST SRR R E A e R T S B
R < S R [ Y R 0 g
R R ﬂfl ™~ %’"‘ S (R oA LR R IE
aﬂ&ﬂﬁ?i?fﬁ?éﬁ”?ﬂrf@[ » TR Tl ARy A A s e
BEAE

M)é%%mﬁ%mwFM%Wﬁ@’ﬂWE%ﬁmﬁwwr@mﬁ
E}JE@:@[@E[7 ;.Dpfq__} F[%EL‘B‘—{”;;\_‘,[} Fﬁ\uﬁjlﬂ“{jﬁ%ﬁtj

Mk R

(€) 5 75 ¥k £ LI 9 VYV Y8 37 S 1 O J R K R L A S
SEYRE R AR TR PR R R FY ROER E  RRY
ﬁl%ﬁ,uj i i ijféﬁ» It WJFJIFKIEFQ) I'H{@Ejﬁ[&;g@@al%li FE BJEIGJ& ifj
Ti/[ [%(E”éﬁ%TFliﬁu'ﬁiEU"“FJﬂl%%‘\b| FY i > ([ B P
(1 pr W SR e

(F) % iy i 0 BT S S AP R B W R R )
R
5. *ﬁggﬂffiuﬁﬂf“v A W R 2R
B ) 2 1) S 9 BERE B S &gﬁfmu$ﬁwﬂg£%§rﬂw
@m%#rpwufrﬁﬁﬁﬁjwﬂﬂm$

6. ”ﬁi’r” o g T [ A IJ?H 20 PR R
FURF > PUg PRI = my IR S o Ry SR S e 25 RS *frlré‘uzﬁfl
PR ﬁ"iéé E :grﬁkﬁ [ B AR R e Bl R RORL A ER A A
,xf;ﬁz%dr%p@ 1FKEI hds o 1) T A E‘*@ﬁlﬁr& O (F s W R

A F [F?‘%ﬁ' AN BTES o ) M EREEE R & - a2
Hﬁﬂwﬁﬁﬁg’ﬁﬁwEﬁﬁ’%F%ﬁﬂﬂﬁ$ﬁWﬁ%Wﬂ%£
LA Ejﬁ&,[rgg(ﬁfpgzj\ VR RS UGS PR o fF I RN
’F‘A’f“é? Eﬁj@”ﬂxﬁ— E 8K



S L N

7. o SO ERIVER EY RS O T
| FTJ ﬁi—”ﬂﬁ m s P I‘PH i~ [ffr’pw“
-

AT I’F'EJM?J R [OAES R
T S B A RE R o “i‘“‘J Ea YT S
ﬁfl [ ﬁﬁlJﬁiA ) cpﬁl R E k’]%”? ;,;fﬁ b N ﬁlﬁﬁ‘/’ ﬁﬁ FIE[F[JP FJ [fl:
bR Plu&°wm$%aﬂ# I R T R
2009 = LB - W 2012 F RS o

EAEGL

8. %%Ehﬁ: ert I Sl AL R A ﬁ?%{?ﬁﬂﬁi[ﬁ qopd o IR
2 il e R A %ﬁm?%

T S T B
2007 = 4 F|



